
Exercice d’orthographe pour le 2e contrôle continu 

 

[le patwa] 

[levCkablimaFeesygFDstifdepatwadnopYCvRss2kCmdeflœYsova:F |  

kBlakyltyYnapA{z}SkCYYeysiadenatyYe | ek2nBYSk2tYBplykSdefCYDiQCYe |  

usyYdesCmDpVaksDsibl || otYBfwaDlsepanwisDdStulpejifYSsDeGSFDtfiziCnCmi 

sPivSlak2figyYasj2dysCl | lepejzaFeleklimadivD:Y || oFuYdPiDlsBYaYefie 

tSdadispaYD:tY || amBzyYkyndBnopYCvRsdBvjRplysivilize |  

ekDlYBswaplydiYDktBmSlakyltyYpaYizjDn | Dlublis2djalDktBlCkal 

eDlRtDYdiase{z}SfSdBlpaYle || pSdS{t}ynbCnmwatjedydiznœvjDmsjDkl |  

lepyYist | lefolDtYeelemDtYdekCl2fDynsiYydgDYanopatwa | kil{z}2YeysialedetYPiY 

dSbokudBdepaYtBmS || inRtDliFSebDtmSsStYalizatœ:Y | iln2pAk2pYi 

kBse{z}SsjRpaYlednopYCvRsetDotSdlSgCYiFinal | SteYjœYalalSgfYSsD:z |  

ekDl{z}2sDYviafCYmelidjomnasjCnal | apsClymSkCmle{z}eglStinsovaF 

s2{t}RdispSsablpuYkYeelelyksPVzYozde{z}CYtikyltœ:Y ||  

2sS{n}D{t}apDYsytYCta:Y | eoFuYdPikDlkBdevolDtYesBAtBdBYBkœjiY 

sedjalDktdBlavjDj*fYS:s | avSkilsBswaSvCledelDvYdBnogYSdmDY 

eevapCYe{z}aFamD || ] [*tœYjD | *k2tdBla*maYFClDn] 

 


